KAMINI DOSHI

Executive Engineer

Public Infrastructure Cell



Surat Municipal Corporation,

School No.16, Near Soham Circle, Althan Canal Road, Althan, Surat

P. I. Cell/Outward/No.585 Date: 30/07/2022

Sub :- Renovation of Toilet blocks of Pediatric Ward at 1st Floor, 'E' block in SMIMER hospital, Umarwada, Surat.

Quotation letter duly super scribed and returnable on or before Dt. 10/08/2022 up to 17.00 hrs.to the office of "Chief Accountant, Surat Municipal Corporation, Muglisara, Surat" in person or by Speed Post is invited to carry out the following.

Sr. No.	ITEM	Quantity	Unit	Rate Rs. Ps.	Amount Rs. Ps.
1	Demolition of brick work and stone masonary including stacking of serviceable materials and disposal of unserviceable materials with all lead and lift (ii) in cement mortar.	30.00	C.M	366.93	11007.90
2	Dismantling tiled or stone floors laid in mortar including stacking of serviceable material and disposal of unserviceable material with all lead and lift.	244.00	S.M	31.82	7764.08
3	Dismantling UPVC pipes and UPVC rainwater pipes with fittings & clamps including stacking the materials with all lead & lift (for any dia.of pipe).	72.00	R.M	49.84	3588.48
4	Dismantling sanitary fittings like wash basin, W.C.Indian pan & European type, flushing tank etc. Including stacking the materials with all lead and lift.	20.00	No.	270.43	5408.60
5	Providing & constructing brick work using Fly ash bricks having Crushing Strength not less than 35kg./sq.cm.in super structure in cement mortar 1:6 (1 cement:6 fine sand) etc.comp.	5.60	C.M	3423.54	19171.82
6	Providing & constructing Half brick masonary in Fly Ash bricks having crushing strength not less than 70 kg/sq.cm in c.m 1:4 (1 cement: 4 sand) curing etc complete Ground Floor	180.00	S.M	494.91	89083.80
7	Providing & Applying 10mm.th.cement plaster in single coat on brick/concrete walls similar surfaces for plastering & finished even & smooth with a floating coat of cement slurry mixed with admixture of lime or neeru in required proportion etc. comp. in C.M 1:3 (1 cement : 3 sand) (A) For wall and similar surfaces	620.00	S.M	145.30	90086.00
	(B) for ceilings and soffits of stairs	120.00	S.M	161.84	19420.80

Quotation Letter

8	(A) Providing & laying water proofing treatment to				
8	 (A)Providing & laying water proofing treatment to vertical and horizontal surfaces of depressed portions of W.C., Kitchan & the like consisting of: (a) I course of applying cement slurry @ 4.4 kg/sqm mixed with water proofing compound conforming to IS: 2645 in recommended proportions. (b) II course of a layer of plaster in C.M.1:3 with water proofing compound confirming to IS: 2645 about 25mm thk in the floor of the depression & about 18mm thk on the side walls of the depression upto the floor level, water proofing plaster about 18mm thk be continued on the walls above the floor level for a height of 600 mm. with surface suitable to receive further treatment. (c) Finishing top with stone aggregate 10mm to 12mm nominal size spreading @ 0.008 C.M./S.M., thoroughly embeded in plaster layer. as per specifications & instructions of engineer in charge (cement consumption 0.316Bags / S.M.) NOTE :- (1) The whole work is to be executed through specialized agency with a guarantee of 10 (Ten) years given on a prescribed proforma duly stamped (2) The rate shall include for work at all floors & conducting water proof test as directed. (M.R.) 	160.00	S.M	290.00	46400.00
9	Providing & filing in depressions of bath and W.C. at all floor levels, after completing plumbing work of pans, pipes, traps etc. with cinder or fly ash as directed by engineer in charge etc. comp.	50.00	C.M	470.00	23500.00
10	Providing & laying Vitrified 8mm thick antiskid tiles of Orient, Kajaria, Jhonson, Nitco, Somani, Bell, Asian or Euro make in flooring, treads of steps & Landing laid on bed of 20mm (average) base of cement mortar 1:6 (1 Cement: 6 Coarse sand) on new surface or fixing on existing flooring by adhesive material including dismantling of existing flooring & jointed with colour cement slurry including finished with flush pointing & cleaning the surface etc. comp. size 24" x 24" (Basic rate-Rs. 485 / S.M.)	106.00	S.M	938.54	99485.24
11	Providing & laying granite slab 18 mm thick in flooring, treads of steps & landing laid on bed of 20 mm thick cement mortar 1:6 (1 cement: 6 coarse sand) or lime mortar 1:1.5 laid & finished with flush pointing in white or colour cement including rubbing and polishing complete. (Basic rate:- Rs. 1590 /S.M.)	36.00	S.M	2404.00	86544.00
12	Proving & fixing 18mm th. Both side Mirror Polished black granite of approved quality full molded round front edge as wash basin counter fixed with wall in cement mortar 1:3 including rubbing & polishing with necessary bonding with adhesive etc. complete.(Both edges are round in shape with polishing), For All Floor Levels as per architect instructions.	7.00	R.M	2920.00	20440.00

					I
13	Providing & laying Vitrified tiles 8 to 10mm thick, 24"x24" in skirting, risers of steps & dado on 10mm thick cement plaster 1:3(1 cement:3 coarse sand) & jointed with white cement slurry.(basic rate - Rs. 366 / S.M.)	612.00	S.M	721.14	441337.68
14	Providing & fixing 35mm.th. Flush Door Solid Double Core type Both Face water proof Ply Vennered & 1.5mm th. laminate shall be pasted on both side with adhesives as specified by the manufacturers. The laminate shall be as per approved shade & texture, of make incl. teak wood frames of finished size 12cmx7cm.incl. Brass Hinges with necessary Brass screws & Anodized Brass fixtures & fastenings For all Floor, as per architect instructions & suggestion. (A) Fully Panelled.	9.00	S.M	3312.00	29808.00
15	Providing and fixing FRP FRAME size 125 x 65 mm & 35 mm thick FRP shutter with wood grain raised panneled design finish shutter having extra reinforcement on sides & edges in Gel coat finish. The core of the shutter & frame is to be filed up with injected polyurethane foam done in situ along with embedded wooden pieces for stiffening & also taking hinges & fixtures. The whole FRP frame & shutter is to be water proof weather proof, termite proof & resistance to mild acid/alkali. Rates are to be inclusive of Brass hinges with fastener sleeve & Brass fixtures & fastenings. Product should have 3 years performance guarantee & company have ISO 9001-2000 certificate. For All Floor Levels, as per architect instructions and suggestion.	40.00	S.M	3861.23	154449.20
16	Providing and fixing S.S.wire mosquito jali as per architect's specification	30.00	S.M	600.00	18000.00
17	Wall painting with two coats of Plastic emulsion paint of approved brand manufacture on undercoated wall surface to give an even shade including throughly brushing the surface free from mortar droppings & other foreign matter & sand papered smooth.	120.00	S.M	52.92	6350.40
18	Providing & fixing at all floor levels, both face polished machine cut edge green kota stone slab (30mm)for urinal partition joined with grey cement slurry(1:1)incl.Rubbing & polishing etc. complete. (M.R.)	3.00	S.M	709.00	2127.00
19	Providing & fixing Urinal of approved quality including connecting the urinal with waste pipe, tap etc. complete. (A) White earthenware flat back or corner type size 430 mm x 260 mm x 350 mm.	6.00	NO.	700.99	4205.94
20	Providing & fixing wash basin with single hole for pillar tap at all floor levels, with C.I. or M.S. Brackets painted with incl. cutting holes & making good the same incl. fittings such as pillar tap, capstan head screw down high pressure with screws, shanks & back nuts, C.P. Brass waste trap, screw down stop tap 15 mm dia. etc. complete. (A) Vitreous china flat back wash basin 550 mm x 400 mm size in approved colour.	12.00	NO.	1681.10	20173.20

21	Prov.& Fixing water closet squatting pan (Orissa type W.C.pan) at all floor levels, size 580mm incl. 100 mm size "P'or "S" trap for water closet squatting pan joining the trap with the pan & soil pipe in C.M. 1:1 (1cement :1 fine sand) etc. Comp.(A) Vitreous china long pattern of approved colour.	2.00	NO.	959.49	1918.98
22	Providing and fixing Wash Down Water closet European type W.C. pan with integral P or S trap including jointing the trap with soil pipe in cement mortar 1:1 (1 cement : 1 find sand) (seat and cover to be measured and paid for separately) (A) Viterous china pattern - I (i) in approved colour	10.00	NO.	941.72	9417.20
23	Providing and fixing plastic seat and cover for wash down water closet with C.P. brass hinges and rubber buffers (B) plastic seat and cover.	10.00	NO.	343.77	3437.70
24	Providing & fixing 600 mm.x 450 mm. mirror of superior glass at all floor levels, mounted on 6 mm. th. A.C. sheet or plywood sheet & fixed to wooden plugs with C.P.brass screws and washers etc.	8.00	NO.	556.76	4454.08
25	Providing & Fixing U-PVC pipe (SWR) confirming to IS no. 13592 (Type"B") of Prince/Supreme/Jain/ Astral/Tulsi make for soil and waste discharge system at all floor levels incl. All fixtures like bends, tees, shoe etc. jointed with resin of approved brand & manufacture etc. comp. (M.R.)				
	(A) 75 mm.Dia.	26.00	R.M	260.00	6760.00
	(B) 110 mm.Dia.	12.00	R.M	365.00	4380.00
26	Providing & Fixing C.P. Brass screw down bib tap at all floor levels, polished bright etc. comp(A) 15mm dia. For all Floors	44.00	NO.	204.68	9005.92
27	Providing & Fixing gun metal check or non return full way wheel valve at all floors levels, etc. complete.				
	(B) 25 mmdia.	2.00	NO.	496.35	992.70
28	Providing & fixing chromium plated brass half turn flushcock at all floor level, of approved quality incl. fixing in pipe line etc. comp25 mm dia.	12.00	NO.	311.25	3735.00
29	Providing & Fixing PVC Nanhi trap 31/2" ht.of Prince/Supreme/Jain make at all floor levels of self cleaning design with screwed down or hinged grating incl. cost of cutting making good the walls & floors etc. For all Floor	26.00	NO	119.00	3094.00
30	Providing & Fixing P.V.C. pipes (SCH-80) of Prince/ Supreme/ Jain/ Astral/ Tulsi make for water supply line at all floor levels incl. fixtures like bends, tees, shoe etc joined with resin of approved brand & manufacture etc. comp. Pipe shall be fixed on the wall with the help of clamp at every two meters C/C or shall be concealed as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.				

	(A) 15 mm Dia	100.00	R.M	93.00	9300.00
	(B) 25 mm Dia	18.00	R.M	161.00	2898.00
31	Providing and fixing Stainless steel (Garde 304) handrail made of Hollow Tubes, Channels, plates Polising and making curvature (Whereever Required) and fitting the same with necessary stainess steel Bolts etc. of required size, on the toilet walls. (For payment perpose only weight of stainless steel member shall be consider cluding fixing accessories such as nuts, bolts, fastners etc., For All Floor Levels (As per Arch. Design and architect instructions & suggestion.)	13.35	K.G	384.00	5126.40
	Total Amount				
% Above/Below					
Net Amount (Incl.GST)					

I/We do hereby give quotation to execute above mentioned work in accordance with the accompanying specifications and conditions in considerations.

TERMS AND CONDITIONS:-

- 1. Bidder has to submit Registration certificate of any department of state Government, Surat Municipal Corporation, Central Government etc. of "E-2" Class and above
- 2. The quotation complies in 1 cover.

Sealed Cover- Registration Certificate of "E-2" Class and above, Bank Solvency of 20% of Offer Amount, P. F. Certificate / ESI, GST Certificate, Experience Certificate and sign all the documents and EMD of Rs. 15,000/- in the form of Crossed Demand Draft / Pay order/ Cheque of Local Nationalized Bank with duly sealed.

Cover shall mention on top name of work, name of agency and duly sealed.

- 3. Bidder shall have to attach Registration Certificate of "E-2" Class and above, Bank Solvency of 20% of Offer Amount, P. F. Certificate / ESI, GST Certificate, Experience Certificate and sign all the documents and quotation offer letter otherwise the same shall not be considered.
- 4. Bidder has to deposit EMD of Rs. 15,000/- in the form of Crossed Demand Draft / Pay order/ Cheque of Local Nationalized Bank, acceptable to Surat Municipal Corporation, drawn in favour of the Municipal Commissioner, SURAT MUNICIPAL CORPORATION payable which shall be refunded after sanction of work.
- 5. Quotation once offered shall not be withdrawn by Vendor.
- 6. Quotation once accepted shall be binding to the Vendor/Contractor.
- The rates quoted must include all taxes, duties/ levies, GST (Goods and Service Taxes), freight, insurance, transportation, delivery and loading /unloading at the site etc. complete.
- 8. The decision of I/C. Add. City Engineer, Public infrastructure Cell, SMC shall be final in respect of disputes what so ever arise.
- 9. Right to accept any or to reject any or all the quotations without assigning any reason thereof is reserved by the competent authority of Surat Municipal Corporation, Surat.

- 10. The Intended Bidders has to contact Deputy Engineer/Junior Engineer/Asst. Engineer, Public infrastructure Cell, SMIMER on working days between 9.00 AM to 12.30 PM at D-Block, SMIMER Hospital & visit the site and gather information before quoting rates.
- 11. Accordingly, Bidder have to quote and submit in the above said time limit.
- 12. All necessary safety measures and precautions (including those laid down in the various relevant Indian Standards) shall be taken to ensure the safety of men, materials and machinery on the works as also of the work itself.
- 13. The Vendor/Agency's rate of the item of work shall be for the work completed in all respects.
- 14. Approval of the samples of various materials given by the Engineer-in-charge shall not absolve the Vendor from the responsibility of replacing defective material brought on site or material used in the work found defective at a later date. The Vendor shall have no claim to any payment or compensation what-so-ever on account of any such materials being rejected by the Engineer-in-charge.
- 15. Conditional quotation letter shall not be accepted.
- 16. The contract shall be constituted according to and subject to laws in India and state of Gujarat and under the jurisdiction of Courts of Gujarat at Surat City only.
- 17. Bidder to whom the award is made shall furnish a performance guarantee (Initial Security Deposit) for amount equal to Two percent (2.00%) of the contract amount by a demand draft of a Scheduled Nationalized Bank acceptable to owner on the Surat Branch Security Deposit shall be paid in time and if it is paid after Ten (10) days from the date of work order, then the penalty of 0.065 % per day of the amount of Security Deposit shall be recovered from the contractor. The performance guarantee (Security Deposit) will be returned to the contractor after the defect liability period (one year after completion of work) and on completion of audit related procedure. Two percent (2.00%) shall be deducted from running bills as retention money and will be released in final bill and 2.00% Deposit of each R.A. bill shall be retained as retention money, which will be released after the completion of the total contract, during the payment of final bill. Additional 5.00 % amount will be retained from each R.A. bill as additional retention money.
- 18. On Completion of the work, total amount of work done at sanctioned rate shall be compared with the total amount of work done, had it been executed at the rate of the bidder of the quotation which one is next higher than sanctioned one (i.e. second lowest bidder). In case the latter is less than the total amount of work done at sanctioned rate than the amount of difference between the due shall be deducted from the final bill before making payment.

- 19. Time limit of the work is 06 (Six) months (Including Monsoon). If the bidder fails to complete the work within the stipulated completion date for the work, he shall pay liquidated damages 0.20% of contract value per day in completion or part there of as the case may however be, Subjected to a maximum of 10% (Ten Percent) of the contract value.
- 20. Bidder shall have to carry out complete work with guarantee of 10 (Ten) Years. Bidder shall have to submit guarantee bond on a prescribed Performa duly stamped.

Executive Engineer Public Infrastructure Cell Surat Municipal Corporation

Seal & Signature of the Contractor

Name :-

GST No. :-

Address :-

Date :-

Copy to: Chief Accountantshri, Surat Municipal Corporation, Muglisara, Surat... for necessary action